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HZ718 (M3
- Tier 1: Ei= QiXEFl'
= 56,800 ton/H X 0.75 tCO,/ton = 42,600 tCO,/\A

-TierZ: Ei = QiXTiXEFi
= 56,800 ton/H X 90.53% X 0.75 tCO,/ton = 38,566

- ISO 19694-5 . E; = Q; XEF;
= 56,800 ton/H X 0.7364 tCO,/ton = 41,828tCO,/A

XEFLI = (CaOLI_ROK + N X CaOLKD) x0.7848 +
(MgOpi—rok + Mt X MgOpkp) X1.092

EF = (0.9053 + 0.0211 X 0.7242) X 0.7848 + (0.0125 +
0.0211 X 0.0100) X 1.092 = 0.7364 tCO,/t

Hi = A|=0f| 2| 510 HY =& XI0| & H 0]
=L A X| RO AL caolt mgo SR ES

ae{etEiEA

AL A |
=8 d

27|t (3] A
- Ei = (Qi X1y X F; X EF;) - (Qukp X EFLkp (1 = Fkp)
= 100,000ton/H x 0.9053 x 0.974 x 0.4397tCO2/ton
- (1,200ton x 0.4397tCO2/ton x (1 - 0.8)

= 38,771 tCO2/3 - 106 tCO2/H3 = 38,666 tCO2/H

- 1SO 19694-5 :

Mcoz stack = (EFLs X myg) + Moz oxy
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* Tier 1 (YO|H 7| L BHXH) * Tier2a (QI17F JtAAH| 2
* Tier2a (AH7F 7pAAH| ) * Tier 2b (Y| O|H M{O| =& Z}A AH|2F)
A EEE
- Tier2b (BHTE ThALHF) + Tier2c(3HTE U 90| MO| = FpAaH|Z)
* Tier 3 (Teir 2a EE= Tier 2b 7| B AFZE 19 HIES A %) » Tier 3a (Tier 2c 7|Ht AFA R T HY =S H| 4=
* Tier3b (Hi 7t 7|8t AFHE DR HIEA 5=
* CF4, C2F6, C3F8, CAF8, CAF8O, CAF6, C5F8, CHF3, CH2F2,NF3, . (cp4 coFe, C3F8, CAFS, CAFSO, CAF6, CSF8, CHF3, CH2F2, NF3, SF6,
EDItA =
S0 (] CH3F, C2hF5, N20 (143%)
= * CF4, C2F6, C3F8 (35) * CF4, C2F6, C3F8, C4F6, CAF8, C5F8, CH3F, CHF3 (8%)
Tiert « HIHIEAF5T o N& HiZH <75 (C4F8, CH2F2 =7}
O 7H e ==
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St N S CIAE 0| 20ke| 22 3P ntu| 2| HiEH|+ HA 1} £ M7tA FIL2 Q1810 Etch 37HQ|
AL HIEE X10] 21%, cvD 3782| 42 H{ E T X}0| 7} 50% ‘LM
2006 70| =212l 2019 7}0| =212l
TE HET | g z hET | g A el
CF, 2,700 0 2,700 2,510 450 2,960 10%
CHF, 890 a0 980 890 220 1,100 13%
Etch SF; 620 0 620 930 g0 1,020 65%
CH,F, 3 37 40 10 150 160 300%
A 4,203 127 4,300 4,300 910 5,200 21%
C,F; 280 30 310 350 70 420 35%
CiFg 100 20 120 a0 100 190 58%
cvD
C,Fy 210 160 370 370 220 590 59%
| 590 210 800 810 390 1,220 50%
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